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An area of four Koor, as is the full flight of a dove

OVERVIEW

The 7127 maintain that one may make a dovecote in his property if there is a radius
of (at least) fifty nX in all directions that are still within his property. However,
a7 20 disagrees and requires that there be four M2 n°2 of his property!
surrounding the 72w. Our NM201N explains the dispute.
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And >''9 and the 7229 do not argue how much the flight of a dove is -
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For even the 3129 agree that the /729577 93w is the area of four 33913 (on all sides) -
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Rather the 3239 maintains that since the doves fill up their stomachs with food

within fifty nmR as the X3 states, therefore they will not damage anymore
outside the fifty nnX, even though they do fly further than fifty ninx -
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However, '' maintains that they damage as far as they fly, for they eat even
beyond the fifty ninx.

SUMMARY
All agree that the doves fly more than fifty n1X, however 11271 °"1 argue whether
they eat their fill within fifty nxX (the 7127), or not (°").

THINKING IT OVER

Seemingly the reason mooIn assumes that there is no dispute regarding 2w X
7117, 1s because this is an observable fact, so it is not probable that they argue over
a fact. However, if this is the reason, so similarly whether the birds eat their fill
within fifty nX (or not) is also a fact, so what have we gained, by exchanging one
argument of fact for another?!?

' A 715 n»2 means the area in which a 713 of grain can be planted. A X0 n°2 is an area in which a 70 of grain can be
planted and it is fifty nwX by fifty nmR square or an area of 2,500 square nX. A 73 is thirty 7%0, which means that
the area of a 712 n°2 is (2500x30 or) 75,000 square nn»X. The width or length of a 75000 square nX area is slightly
less than 274 nink. Meaning that according to °"9 the 72%W must be surrounded by 274 ninR of his property. We
assume that four 72 nN°2 means a M> N°2 on each of the four sides of the J2w.

% See nwn nom.
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